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QUESTION 1

DRAG DROP

Drag each item on the left to the appropriate category on the right.

Select and Place:

Business Capabilities

Business Priorities

Business Outcomes

Correct Answer:
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Business Capabilities
Business Priorities
Business Outcomes
QUESTION 2

Which first step to create a customer journey map is viable?
A. Present an architecture of another similar customer.

B. Create a story board.

C. Evaluate all your steakholders\\' motives.

D. Create a workflow of tasks and business procedures.

Correct Answer: B

QUESTION 3

You are creating a target state business model. Which statement about linkages between building blocks in the
business model canvas is true?

A. Building blocks on the bottom of the business model canvas affect other blocks on the bottom only
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B. Building blocks on the right side of the business model canvas affect other building blocks on the right side only.
C. Building blocks in the business model canvas affect other building blocks in any permutation.
D. The relationships between building blocks on the business model canvas are fixed.

Correct Answer: D

QUESTION 4

When you define the target state of a business, a SWOT analysis helps you to identify which two types of opportunities?
(Choose two.)

A. business innovation
B. business priorities
C. business drivers

D. business disruption
E. business Influencer

Correct Answer: BC

QUESTION 5

An account team is working to link IT strategy with business strategy by establishing metrics and benefits realization.
Enterprise architecture is part of the customer culture. What is the engagement maturity level of this account team?

A. 3 - technology architecture
B. 2 - technology multidomain
C. 4 - business solutions

D. 5 - business transformation

Correct Answer: A
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